
INSTRUCTION MANUAL

Neomounts B.V.
Wateringweg 62, 2031 EJ Haarlem
The Netherlands | neomounts.com

DS70-256BL1

IT

EN 

NL 

DE 

FR 

ES 

PT 

DK 

Monitor desk mount

Monitor bureausteun

Monitor Tischhalterung

Support moniteur de bureau

Supporto da scrivania per monitor

Soporte de escritorio para monitor

Suporte de mesa para monitor

Bordbeslag skærm

NO 

SE 

FI 

PL 

CS 

SK 

RO 

Bordstativ til skjerm

Skrivbordsfäste för bildskärm

Näytön pöytäteline

Uchwyt nabiurkowy do monitora

Stolní držák monitoru

Držiak na monitor

Suport de birou pentru monitor

196 250-300

11
6

10
0

75

12-45

116

100
75

12-50

31
0-

57
0

90

-45°

+70°

+/-180°

+/-90°

+/-180°

+/-90°

200

10
0

200

20
0 +/-90°

Measuring unit: mm



PARTS

DS70-256BL1

Install the clamp to the desk - for desktop thickness
between 12-45 mm
Installeer de klem aan het bureau - voor bladdikte
12-45 mm
Installieren Sie der Klemme am Schreibtisch - für Tisch-        
stärken zwischen 12-45 mm
Vissez la pince sur le bureau - pince prévue pour un
bureau d'épaisseur entre 12-45 mm
Installare il morsetto sulla scrivania - per spessore del
piano tra 12-45 mm
Instale la abrazadera en el escritorio - para el grosor del
escritorio entre 12-45 mm
Instale a braçadeira na mesa - para espessura de mesa
entre 12-45 mm
Zainstaluj zacisk na biurku - dla grubości pulpitu od
12-45 mm

EN

NL

DE

FR

IT

ES

PT

PL

A. (x1)

H. (x2) I. (x2) J. (x1)

B. (x1) C. (x1) D. (x1) E. (x1) F. (x1) G. (x1)

Tool PencilTool Pencil Drill

K. M8x120
(x1)

Q. 4mm
(x1)

S. 8-10mm
(x1)

M-A. M4x12
(x4)

M-B. M6x12
(x4)

M-C. M8x12
(x4)

M-D. D5
(x4)

M-E. D8
(x4)

R. 6mm(Long Type)
(x1)

L. M8x55
(x1)

M. M5x35
(x1)

31-57 cm75x75 -
200x200 mm

flat: 2-30 kg
curved: 2-24 kg

N. M5x12
(x8)

P. M5
(x8)

O. M5x8
(x2)

STEP 1 ClampA

C

R

L

E
12~45mm



STEP 2

Install the grommet through the desk - for desktop
thickness between 12-50 mm
Installeer de doorvoer in het bureau - voor bladdikte
12-50 mm
Installieren Sie der Tülle durch den Schreibtisch - für 
Tischstärken zwischen 12-50 mm
Pour une fixation traversante, vissez le support à travers
le bureau avec la plaque sous le plateau - l'oeillet est
prévu pour un bureau d'épaisseur entre 12-50 mm
Installare l'occhiello attraverso la scrivania - per spessore
del piano tra 12-50 mm
Instale la arandela a través del escritorio - para el grosor
del escritorio entre 12-50 mm
Instale o anel através da mesa - para espessura de mesa
entre 12-50 mm
Zainstaluj przelotkę przez biurko - dla grubości pulpitu
od 12-50 mm

EN

NL

DE

FR

IT

ES

PT

PL

Attach the lower arm to the base
Bevestig het onderste deel van de arm aan de voet
Befestigen Sie den unteren Arm an der Basis
Fixez le bras inférieur sur la base du support
Fissare il braccio inferiore alla base
Fijar el brazo inferior a la base
Fixar o braço inferior à base
Przymocuj dolne ramię do podstawy

EN
NL
DE
FR
IT
ES
PT
PL

ape measure

STEP 1 GrommetB

B

Q

C

R

K

G

12-50mm

Ø10mm
(Ø3,8")

or

12-50mm

Ø10-60mm

Desktop with
existing hole



OPTION

STEP 3

Adjust the limiting screw to (de)activate the 180° lock 
system
Stel de begrenzingsschroef in om het 180° vergrende-
lingssysteem te (de)activeren
Stellen Sie die Begrenzungsschraube ein, um das 180°-
Verriegelungssystem zu (de)aktivieren 
Ajustez la vis de butée pour (dés)activer le système de                 
verrouillage à 180° 
Regolare la vite di limitazione per (dis)attivare il sistema 
di blocco a 180°
Ajuste el tornillo limitador para (des)activar el sistema 
de bloqueo de 180°
Ajuste o parafuso limitador para (des)ativar o sistema 
de bloqueio de 180°
Wyreguluj śrubę ograniczającą, aby dezaktywować 
system blokady 180°

EN

NL

DE

FR

IT

ES

PT

PL

Attach the upper arm to the lower arm
Bevestig het bovenste deel van de arm aan het 
onderste deel van de arm
Befestigen Sie den oberen Arm am unteren Arm
Fixez le bras supérieur au bras inférieur
Fissare il braccio superiore al braccio inferiore
Fijar el brazo superior al brazo inferior
Fixar o braço superior ao braço inferior
Przymocuj górne ramię do dolnego ramienia

EN
NL

DE
FR
IT
ES
PT
PL

A

Q

±180°

Loosen the limiting screw.

Arm can rotate without stopping.

±90°

Tighten the limiting screw 
(do not over tighten).

Arm can rotate 180°.

Q

Q



* Not Included

STEP 4
Remove the VESA plate from the VESA head and install 
the VESA head to the upper arm
Verwijder de VESA plaat van de VESA kop en installeer 
de VESA kop op de bovenste arm
Entfernen Sie die VESA-Platte vom VESA-Kopf und mon-
tieren Sie den VESA-Kopf am oberen Arm
Retirer la plaque VESA de la tête VESA et installer la tête 
VESA sur le bras supérieur
Rimuovere la piastra VESA dalla testa VESA e installare la 
testa VESA sul braccio superiore
Retirar la placa VESA del cabezal VESA e instalar el cabe-
zal VESA en el brazo superior
Retirar a placa VESA da cabeça VESA e instalar a cabeça 
VESA no braço superior
Zdejmij płytkę VESA z głowicy VESA i zamontuj głowicę 
VESA na górnym ramieniu

EN

NL

DE

FR

IT

ES

PT

PL

Attach the VESA plate to the monitor
Bevestig de VESA plaat op de monitor
Bringen Sie die VESA-Platte am Monitor an
Fixez la plaque VESA sur le moniteur
Fissare la piastra VESA al monitor
Coloque la placa VESA en el monitor
Fixar a placa VESA ao monitor
Przymocuj płytkę VESA do monitora

EN
NL
DE
FR
IT
ES
PT
PL

STEP 5

D

D1

Q

J

M

M-A

M-D

VESA 75x75 / 100x100

75mm
100mm 75mm

100mm



Attach the appropriate extension brackets to the VESA 
plate and install the VESA plate to the screen
Bevestig de geschikte extensiebeugels op de VESA plaat 
en monteer de VESA plaat op het scherm
Bringen Sie die passenden Verlängerungshalterungen an 
der VESA-Platte an und befestigen Sie die VESA-Platte 
an dem Bildschirm
Fixez les supports d'extension appropriés à la plaque VESA 
et montez la plaque VESA sur l'écran
Collegare le staffe di estensione adatte alla piastra VESA e 
montare la piastra VESA sullo schermo
Colocar los soportes de extensión adecuados en la placa 
VESA y montar la placa VESA en la pantalla
Fixar os suportes de extensão adequados à placa VESA e 
montar a placa VESA no ecrã
Przymocuj odpowiednie wsporniki przedłużające do płyty 
VESA i zamontuj płytę VESA na ekranie

EN

NL

DE

FR

IT

ES

PT

PL

OPTION

I

P

P

H

I

N

H

H

S

S

I

I

H

H

I
P S

H

I

N

N

M-E

VESA 200x100 

VESA 100x200 

VESA 200x200 

100mm

200mm

200mm

* Not Included

200mm

200mm

100mm

M-B M-C



STEP 6

STEP 7

Attach the screen to the mount and secure it
Bevestig het scherm aan de steun en zet vast
Befestigen Sie den Bildschirm an der Halterung
und sichern Sie ihn
Fixez l'écran au support et sécurisez-le
Fissare lo schermo al supporto e fissarlo
Coloque la pantalla en el soporte y fíjela
Colocar o ecrã no suporte e fixá-lo
Przymocuj ekran do uchwytu i zabezpiecz go

EN
NL
DE

FR
IT
ES
PT
PL

Adjust the gas spring to counterbalance the weight of 
the screen
Stel de gasveer af om als contragewicht voor het gewicht 
van het scherm
Stellen Sie die Gasfeder ein, um das Gewicht des Bild-
schirms auszugleichen
Ajuster le ressort à gaz pour contrebalancer le poids de 
l'écran
Regolare la molla a gas per controbilanciare il peso dello 
schermo
Ajustar el resorte de gas para contrarrestar el peso de la 
pantalla
Ajustar a mola de gás para contrabalançar o peso do ecrã
Wyreguluj sprężynę gazową, aby zrównoważyć ciężar 
ekranu

EN

NL

DE

FR

IT

ES

PT
PL

Gently guide the screen when attached, 
as the gas spring may need further 
adjustment.

Keep the arm positioned horizontal and gently 
support the screen during this entire step.
Do not over-tighten the screw.

D1
O

R



Remove the cable cover and run the cable(s) through the cover
Verwijder de kabelgoot en leid de kabel(s) door de kabelgoot
Entfernen Sie die Kabelabdeckung und Kabel durch die Kabel-
abdeckung führen
Retirez les couvercles caches câbles et positionnez vos câbles 
dans les goulettes prévues à cet effet et reclipsez les caches 
câbles
Rimuovere la copertura del cavo e far passare il cavo attraverso 
la copertura del cavo
Retire la cubierta del cable y pase el (los) cable(s) a través de la 
bandeja para cables
Remova a tampa do cabo e passe o cabo pela tampa do cabo
Zdejmij osłonę kabli i przeprowadź kabel przez osłonę kabla

EN
NL
DE

FR

IT

ES

PT
PL

STEP 8

F

Gently pull the sides apart 
slightly. Do not over-bend.



OPTION

Adjust the mount to the desired position
Stel de steun in op de gewenste positie
Bringen Sie die Halterung in die gewünschte Position
Ajustez le support à la position souhaitée
Regolare il supporto nella posizione desiderata
Ajuste el soporte a la posición deseada
Ajustar o suporte para a posição pretendida
Ustaw uchwyt w żądanej pozycji

EN
NL
DE
FR
IT
ES
PT
PL

Q

Note: If you prefer a counter-clockwise rotation, remove 
the screw on the back of the mounting plate and attach 
it to the other side as shown.

-90°

+90°

Adjust the mount to the desired position
Stel de steun in op de gewenste positie
Bringen Sie die Halterung in die gewünschte Position
Ajustez le support à la position souhaitée
Regolare il supporto nella posizione desiderata
Ajuste el soporte a la posición deseada
Ajustar o suporte para a posição pretendida
Ustaw uchwyt w żądanej pozycji

EN
NL
DE
FR
IT
ES
PT
PL

STEP 9

R

Note: If the display does 
not stop at your desired 
position, adjust the screw 
using the tools as shown.

-45°

+70°

+90°

-90°



CAUTION
Do not rotate the screen beyond the back edge of desk to 
avoid an unstable situation that may cause tipping
Draai het scherm niet voorbij de achterrand van het bureau 
om een onstabiele situatie te vermijden die kan leiden tot 
kantelen
Drehen Sie den Bildschirm nicht über die hintere Tisch-        
kante hinaus, um eine instabile Situation zu vermeiden, 
die zum Umkippen führen kann
Ne faites pas pivoter l'écran au-delà du bord arrière du 
bureau afin d'éviter une situation instable susceptible de 
provoquer un basculement
Non ruotare lo schermo oltre il bordo posteriore della scri-
vania per evitare una situazione di instabilità che potrebbe 
causare un ribaltamento
No gire la pantalla más allá del borde posterior del escri-
torio para evitar una situación inestable que pueda causar 
vuelcos
Não rodar o ecrã para além da extremidade posterior da 
secretária para evitar uma situação instável que possa 
provocar uma inclinação
Nie obracaj ekranu poza tylną krawędź biurka, aby uniknąć
niestabilnej sytuacji, która może spowodować przewrócenie

EN

NL

DE

FR

IT

ES

PT

PL





25.04


